EREEELF - EEGEL BAN-REBERKRE (FM7FE1~38An) [TEE]
2 " kR B = & W B = =
B 25' B 25' =c) :E'
FEEFD | amrg | ones #ﬁiﬁ' "*ﬁ(%) SH7E | SH64E 14:;;5 "g(%) SH7E | SH64E (1;' 4;”:)
EEJOIE 126 106 20 18.9 106 92 14 15.2 84.1 86.8 -2.7
®]) A 12 5 7 140.0 8 4 4 100.0 66.7 80.0 -13.3
R 11 10 1 10.0 5 10 -5 -50.0 455 100.0 -545
)i P 5 5 0 0.0 3 4 -1 =250 60.0 80.0 -20.0
TRIEHXSE 49 27 22 815 42 18 24 133.3 85.7 66.7 19.0
BEEHSE 3 6 -3 -50.0 3 8 -5 -62.5 100.0 133.3 -33.3
FRIEHLWNED 46 53 -7 -13.2 45 48 -3 -6.3 97.8 90.6 7.2
FEGXRID 381 474 -93 -19.6 376 378 -2 -0.5 98.7 79.7 19.0
BAE 358 437 -79 -18.1 361 363 -2 -0.6 100.8 83.1 17.7
FEXR 206 230 -24 -10.4 149 158 -9 -5.7 72.3 68.7 3.6
ZDih 152 207 -55 -26.6 212 205 7 34 1395 99.0 40.5
BEEZX 10 8 2 250 7 9 -2 -22.2 70.0 112.5 -42.5
Vo1=KY 6 10 -4 -40.0 3 1 2 200.0 50.0 10.0 400
ENY 7 19 -12 -63.2 5 5 0 0.0 71.4 26.3 451
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EEILGE 84 76 8 10.5 73 67 6 9.0 11 9 2 22.2
= A 6 3 3 100.0 5 3 2 66.7 1 0 1 0.0
G RS 7 13 -6 -46.2 2 11 -9 -81.8 5 2 3 150.0
)i ) X 3 3 0 0.0 3 3 0 0.0 0 0 0 0.0
TRIEHXE 36 17 19 111.8 34 14 20 142.9 2 3 -1 -33.3
BREREES S 2 8 -6 -75.0 2 8 -6 -75.0 0 0 0 0.0
FRIEHLWNED 30 32 -2 -6.3 27 28 -1 -3.6 3 4 -1 -25.0
FEGXRID 68 74 -6 -8.1 51 69 -18 -26.1 17 5 12 240.0
BAE 59 66 =7 -10.6 46 61 -15 -24.6 13 5 8 160.0
FEXR 23 23 0 0.0 21 22 -1 -45 2 1 1 100.0
FDih 36 43 =7 -16.3 25 39 -14 -35.9 11 4 7 175.0
BEERX 5 5 0 0.0 2 5 -3 -60.0 3 0 3 0.0
Uof=KY 0 1 -1 -100.0 0 1 -1 -100.0 0 0 0 0.0
EN 4 2 2 100.0 3 2 1 50.0 1 0 1 0.0




